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Crops will vary in their nutrient requirements in terms of nutrient balance and overall
solution strength (conductivity). Advice needs to be sought for individual crops but, as
an example, typical figures for tomatoes are given below. These are for the main
cropping period in the summer. Higher EC feeds may be used to achieve growth
control early in the season.

Element Applied Feed
(mg/)
pH 5.5
EC (at 20°C) 2.8-2.4*
Nitrate-N 150-175
Ammonium-N <5
Phosphorus 30
Potassium 350-400
Magnesium 50-75
Calcium 175 - 200
iron 3.00
Manganese 0.75
Copper 0.15
Zinc 1.00
Boron 0.50
Molybdenum 0.05

* A reduction based on solar radiation measurement is commonly practised.

Calculation of nutrient content in molar units

The above feed contents are expressed in mg/l or ppm (parts per million). In Holland
and some other countries, they are expressed in molar terms. These are as mmol.|-!
(millimols per litre) or, in the case of trace elements, pmol.I" (micromols per litre).
There are 1,000 pmol in a mmol, as there are 1,000 pg in 1 mg.

A molar solution would contain the atomic weight of the element dissolved in a litre of
water. The translation from molar content to mg/l can be made by reference to the
atomic weight of the element. Whilst this may not need to be considered on an
everyday basis, it is useful for referring to Dutch data on nutrient composition
recommendations or plant tissue analyses, particularly for what may be considered
minor crops in the UK.
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Examples:

Potassium, atomic weight = 39.
A 10 mmol.I"" solution = 10 x 39 = 390 mg/l.

Phosphorus, atomic weight = 31.
A 30 mg/l solution = 30/ 31 = 1.0 mmol.I"*

Zinc, atomic weight = 65.
A 1 mg/l solution = 1/ 65 x 1,000 = 15 pmol.I*

(Note the multiplication by 1,000 for the conversion for zinc, to pmol.I!).




